

Tuesday 8:35 pm

Classic Bowling Center

Lanes 5 - 46

USBC Certification: 591501 Lane Certification: 4414

President: Marlena Wong

Vice President: Allyson Wong

Secretary/Treasurer: Check Wong (415)613-2717 cwong49@comcast.net

Sergeant at Arms: Anh Cornell

Team Standings In Each Division

Place	#	Team Name	Points Won	Points Lost	Last Wk WON	Last Wk Lost	Pins + HDCP	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total
SFCBC Div 1											
1	42	DLOading	21	3	4	0	36881	632	655	742	2029
2	19	Team 19	19	5	3	1	36034	596	536	613	1745
3	22	Shots-R-U's	17	7	3	1	37466	583	622	634	1839
4	4	Wong Kwok	14	10	3	1	36135	503	552	539	1594
5	27	Mod Squad	13	7	0	0	35827	499	528	504	1531
6	31	Team 31	12	12	1	3	37048	509	561	547	1617
7	37	Team 37	11	13	2	2	35741	561	583	599	1743
8	17	Team Ten Back	11	13	1	3	34953	545	507	478	1530
9	39	Mot Hai Ba Yo	11	9	0	0	33757	0	0	0	0
10	30	Goku	9	11	0	0	36744	505	591	510	1606
11	7	Splits Happen	8	16	1	3	36588	601	580	554	1735
12	20	Team 20	8	16	3	1	36433	514	576	556	1646
13	38	Tripod	8	16	1	3	35356	442	556	473	1471
14	36	High Roller Bowlers	8	16	0	4	34657	564	500	560	1624
15	28	V.E.D.	7	17	3	1	35167	483	537	534	1554
16	26	King's Laundry	7	17	1	3	34796	518	489	490	1497
17	32	Tu Bros	6	18	1	3	35358	551	541	518	1610
18	41	The miSFit's	6	18	2	2	31077	617	502	611	1730
19	12	Fraternity of Bowlers	5	19	1	3	35180	515	640	509	1664
20	40	Team 40	5	19	0	4	34737	545	509	489	1543
SFCBC Div 2											
1	34	Magahay	18	6	2	2	40834	631	670	550	1851
2	14	Team 14	17	7	1	3	39048	593	592	588	1773
3	10	High Jinx	16	8	1	3	41410	564	541	694	1799
4	33	Team 33	16	8	3	1	41033	597	609	631	1837
5	2	Just Bowling #2	16	8	4	0	36555	555	567	587	1709
6	35	Team 35	15½	8½	2½	1½	39235	615	582	618	1815
7	16	Cookie Monster	15½	8½	3	1	38481	522	534	647	1703
8	13	Team 13	15	9	3	1	38452	532	659	601	1792
9	8	Just Bowling #5	15	9	4	0	36915	603	627	656	1886
10	6	Just Bowling #4	15	5	0	0	36428	0	0	0	0
11	18	Always Kill Cow	14	10	3	1	38082	624	674	557	1855
12	29	Team 29	13	11	2	2	38840	579	617	488	1684
13	5	Family Affair	12½	11½	4	0	37915	553	598	601	1752
14	3	Just Bowling #3	12	12	0	4	41932	606	575	642	1823
15	23	Torture Bowling	12	12	1	3	38204	509	560	633	1702
16	1	Just Bowling #1	12	12	2	2	37456	555	658	604	1817
17	9	Running Man	11	13	2	2	40866	584	629	657	1870
18	21	Team 21	10½	13½	1½	2½	40085	597	592	618	1807
19	15	Bud Bowl	9	15	1	3	41044	522	607	629	1758
20	25	Team 25	8	16	0	4	37532	534	597	559	1690
21	11	Team 11	8	16	3	1	36956	555	553	645	1753
22	24	Team 24	7	17	3	1	39673	645	599	678	1922

Review of Last Week's Bowling.....

Lanes	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON		Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON
5-6	DLOading	632	655	742	2029	4	<--->	Just Bowling #3	606	575	642	1823	0
7-8	The miSFit's	617	502	611	1730	2	<--->	Just Bowling #1	555	658	604	1817	2
9-10	Team 40	545	509	489	1543	0	<--->	Just Bowling #2	555	567	587	1709	4
11-12	Just Bowling #4	0	0	0	0	0	<--->	Mod Squad	499	528	504	1531	0
13-14	Family Affair	553	598	601	1752	4	<--->	Team 25	534	597	559	1690	0
15-16	Wong Kwok	503	552	539	1594	3	<--->	King's Laundry	518	489	490	1497	1
17-18	Team 24	645	599	678	1922	3	<--->	Fraternity of Bowlers	515	640	509	1664	1
19-20	Shots-R-Us	583	622	634	1839	3	<--->	High Jinx	564	541	694	1799	1
21-22	Torture Bowling	509	560	633	1702	1	<--->	Team 11	555	553	645	1753	3
23-24	Team 21	597	592	618	1807	1½	<--->	Team 35	615	582	618	1815	2½
25-26	Team 19	596	536	613	1745	3	<--->	Team 31	509	561	547	1617	1
27-28	Team 20	514	576	556	1646	3	<--->	Tu Bros	551	541	518	1610	1
29-30	Goku	505	591	510	1606	0	<--->	Mot Hai Ba Yo	0	0	0	0	0
31-32	Team 29	579	617	488	1684	2	<--->	Team 37	561	583	599	1743	2
33-34	V.E.D.	483	537	534	1554	3	<--->	Tripod	442	556	473	1471	1
35-36	Cookie Monster	522	534	647	1703	3	<--->	Team Ten Back	545	507	478	1530	1
37-38	Always Kill Cow	624	674	557	1855	3	<--->	Team 14	593	592	588	1773	1
39-40	Bud Bowl	522	607	629	1758	1	<--->	Team 13	532	659	601	1792	3
41-42	Running Man	584	629	657	1870	2	<--->	Magahay	631	670	550	1851	2
43-44	Splits Happen	601	580	554	1735	1	<--->	Team 33	597	609	631	1837	3
45-46	Just Bowling #5	603	627	656	1886	4	<--->	High Roller Bowlers	564	500	560	1624	0

Season High Scores

Women

	Scratch Game	Scratch Series	Handicap Game	Handicap Series
Women	256 Allyson Wong	721 Allyson Wong	284 Valery Truong	793 Allyson Wong
	246 Jenn Phaxayavong	622 Jenn Phaxayavong	283 Jenn Phaxayavong	733 Jenn Phaxayavong
	245 Valery Truong	598 Santya Luu	280 Allyson Wong	730 Santya Luu
	223 Santya Luu	582 Marlena Wong	264 Santya Luu	714 Amy Wu
				714 Marlena Wong

Men Div 1

	Scratch Game	Scratch Series	Handicap Game	Handicap Series
Men	258 Steven Nguyen	671 Oscar Ho	304 Tom Fong	797 Oscar Ho
	257 Mike Livingston	647 Derek Ma	302 Steven Nguyen	783 Tom Fong
	257 Tom Fong	642 Tom Fong	301 Mike Livingston	781 Kenneth Hammons Jr
	256 Derek Ma	641 Mitchell Hong	299 Derek Ma	776 Mitchell Hong

Men Div 2

	Scratch Game	Scratch Series	Handicap Game	Handicap Series
Men	300 Daniel Chin	817 Nicholas Lam	318 Yoon Lee	822 Wilson Leung
	300 Yoon Lee	813 Tony Tsui	318 Trung To	817 Nicholas Lam
	300 Octavio Salazar Sr	802 Ed Chung	316 Octavio Salazar Sr	813 Tony Tsui
	300 Nicholas Lam	795 Daniel Chin	313 Ken Ng	813 Ken Ng

Individual High Averages

Women	186.80 Allyson Wong	176.04 Jenn Phaxayavong	172.33 Valery Truong	170.91 Santya Luu
Men Div 1	175.85 Brian Young	174.17 Thomas Sin	173.69 Mike Livingston	171.07 Derek Ma
Men Div 2	240.98 Daniel Chin	231.44 Tony Tsui	227.16 Nicholas Lam	224.00 Jeremiah Sullivan

High Individual Match Points

Women								
Women	44	Trang To	41	Margaret Wong	39	Santya Luu	37.5	Valery Truong
Men Div 1								
Men	52	Joe Chan	49	Van Tran	48.5	Albert Wan	48	Alex Araya
Men Div 2								
Men	60	Brandon Yung	55.5	Hugo Ferreira	55	Jeff Goldenberg	54	Chris Toy

Team Rosters

Name	-1-	-2-	-3-	Total	Pins	Gms	Real Average	Avg	HDCP	Book Avg	High Game	HDCP Game	High Sers	HDCP Sers	Total Arrears
1 - Just Bowling #1 Lane 32 HDCP=13 Avg=557															
Justin Luu	220	237	225	682	12075	57	211	211	7	219	279	279	740	764	
Santya Luu	148	201	186	535	9400	55	170	170	40	175	223	264	598	730	
Jenn Phaxayavong	187	220	193	600	9506	54	176	176	35	173	246	283	622	733	
Artyson Phaxayavong				0	945	6	157	bk159	48	159	176	224	497	641	
Angie Rivera				0	1059	6	176	bk164	44	164	205	249	535	667	
2 - Just Bowling #2 Lane 34 HDCP=0 Avg=553															
Marco Wan	189	199	212	600	600	3	200	bk183	29	183	212	241	600	687	
Amy Wu	138	165	140	443	10128	65	155	155	52	156	206	262	552	714	
Matt Lopes	228	203	235	666	3225	15	215	215	4	203	259	272	695	734	
Van Zeng				0	11329	59	192	192	22	199	276	299	682	745	
Darryl Huynh				0	10095	54	186	186	27	193	266	292	623	704	
3 - Just Bowling #3 Lane 30 HDCP=0 Avg=633															
Anh Cornell	155	226	182	563	13633	66	206	206	11	211	277	286	718	730	
Joe Mullins	232	206	248	686	12582	60	209	209	8	219	269	277	738	762	
Duy Ton-That	219	143	212	574	14430	66	218	218	1	222	279	285	743	761	
4 - Wong Kwok Lane 20 HDCP=0 Avg=518															
Margaret Wong	134	145	130	409	7912	54	146	146	59	149	184	248	493	682	
Allyson Wong	a186	a186	a186	558	8406	45	186	186	27	183	256	280	721	793	
Walter Kwok	183	221	223	627	12323	66	186	186	27	186	255	287	644	737	
5 - Family Affair Lane 22 HDCP=0 Avg=559															
Keith Okada	214	208	240	662	8345	42	198	198	17	193	249	270	693	753	
Jennifer Wong	159	140	145	444	8052	57	141	141	63	149	189	253	487	679	
Jack Wong	167	237	203	607	13007	60	216	220	0	230	276	276	758	758	
6 - Just Bowling #4 Lane 18 HDCP=0 Avg=559															
Phu Hy				0	12257	63	194	194	20	195	265	291	701	779	
Valery Truong				0	9306	54	172	172	38	165	245	284	576	696	
David Hy				0	9856	51	193	193	21	203	254	275	674	737	
7 - Splits Happen Lane 40 HDCP=16 Avg=531															
Joseph Pearl	179	147	107	433	7337	48	152	152	54	140	236	290	566	749	
Valerie Chin	a139	a139	a139	417	3475	25	139	139	64	145	180	240	477	657	\$84.00
Daniel Chin	235	246	260	741	12049	50	240	240	0	239	300	300	795	795	
8 - Just Bowling #5 Lane 38 HDCP=0 Avg=593															
David Nguyen	217	238	256	711	9742	45	216	217	2	227	258	260	729	735	
Chris Phan	a179	a179	a179	537	9158	51	179	179	32	187	225	257	596	692	
Michael Truong	207	210	221	638	12419	63	197	197	18	197	242	265	684	753	
Tyler DiGrande				0	6729	41	164	164	44	159	238	288	608	758	
Laura Wong				0	0	0		bk163	45	163	0		0		

Name	-1-	-2-	-3-	Total	Pins	Gms	Real Average	Avg HDCP	Book Avg	High Game	HDCP Game	High Sers	HDCP Sers	Total Arrears	
9 - Running Man Lane 36 HDCP=0 Avg=615															
Tommy Ng	181	224	213	618	13705	66	207	207	10	210	287	302	697	727	
Timmy Ng	166	163	224	553	12923	66	195	195	20	194	270	297	669	748	
Stanley Chiu	237	242	220	699	11521	54	213	213	5	216	267	270	736	763	
10 - High Jinx Lane 16 HDCP=0 Avg=631															
Kyle Wong	148	162	188	498	10343	54	191	195	20	205	243	263	664	724	
Warren Leung	212	196	269	677	11123	54	205	205	12	210	269	284	685	733	
Tony Tsui	204	183	237	624	13192	57	231	231	0	221	299	299	813	813	
Steven Ting				0	572	3	190	bk188	25	188	204	229	572	647	
11 - Team 11 Lane 14 HDCP=0 Avg=541															
Ted Williams	223	221	235	679	12454	63	197	197	18	190	268	291	680	752	
Marlena Wong	139	147	180	466	8834	54	163	163	45	167	220	262	582	714	
Austin Carpenter	175	167	212	554	5438	30	181	181	31	190	245	277	615	711	
12 - Fraternity of Bowlers Lane 12 HDCP=74 Avg=512															
Thomas Woo	211	179	153	543	4319	24	179	179	32	186	226	254	591	690	
Son Dinh	115	231	127	473	473	3	157	157	50	---	231		473		
Tuan Le	127	168	167	462	7925	45	176	176	35	184	230	261	611	707	
Ryan Keme				0	3053	21	145	145	60	150	187	243	467	635	
Tony Tam				0	10116	57	177	177	34	184	257	289	603	705	
Russell Wong				0	1563	12	130	137	66	147	159	225	437	635	
Edmond Lea				0	4800	30	160	160	48	167	241	291	588	738	
13 - Team 13 Lane 43 HDCP=0 Avg=580															
Jake Williams	163	234	181	578	11816	63	187	188	25	198	246	271	638	713	
Willy Cho	171	182	165	518	12744	66	193	193	21	187	258	284	709	778	
Yoon Lee	168	213	225	606	13181	66	199	199	16	201	300	318	729	783	
14 - Team 14 Lane 45 HDCP=0 Avg=580															
Robert Lim	a183	a183	a183	549	10470	57	183	183	29	176	256	291	636	737	\$28.00
Tylon Leung	166	216	182	564	2185	12	182	192	22	202	216	238	564	630	
Brandon Yung	244	193	223	660	12342	60	205	205	12	204	245	259	695	738	
Harry Kwong				0	3546	18	197	197	18	192	299	321	749	815	
Kory Hui				0	8042	39	206	206	11	196	258	270	679	724	
15 - Bud Bowl Lane 7 HDCP=0 Avg=618															
Patrick Lin	a190	a190	a190	570	9720	51	190	190	24	184	244	272	669	747	
Steven Chen	207	192	191	590	13248	63	210	210	8	202	297	302	764	795	
Ed Chung	125	225	248	598	12451	57	218	218	1	216	289	292	802	811	
16 - Cookie Monster Lane 5 HDCP=20 Avg=568															
Danny To	159	181	222	562	11704	66	177	177	34	177	254	286	596	699	
Francis To	161	146	202	509	4953	27	183	183	29	187	235	269	633	735	
Jeff Goldenberg	202	207	223	632	13127	63	208	208	9	205	279	299	748	796	
Tom Stepp				0	7107	36	197	197	18	201	248	267	675	744	

Tuesday 8:35 pm

Lanes 5 - 46

Name	-1-	-2-	-3-	Total	Pins	Gms	Real Average	Avg HDCP	Book Avg	High Game	HDCP Game	High Sers	HDCP Sers	Total Arrears
17 - Team Ten Back Lane 41 HDCP=128 Avg=460														
Daniel Loke	160	148	120	428	9591	66	145	145	60	137	187	249	489	678
Bonnie Tam	132	122	130	384	8362	57	146	146	59	152	201	258	489	675
Oscar Ho	168	152	143	463	8630	51	169	169	40	168	241	289	671	797
Ada Yuen				0	1402	9	155	155	52	162	195	241	527	665
Ronald Shum				0	1024	6	170	bk197	18	197	195	213	553	607
Joannie Chan				0	444	3	148	bk160	48	160	155	203	444	588
18 - Always Kill Cow Lane 9 HDCP=0 Avg=566														
Sang Lai	195	236	202	633	9096	48	189	189	24	174	246	272	636	720
Kenneth Yeung	183	201	169	553	10252	54	189	189	24	198	235	255	650	706
Billy Chan	234	225	174	633	9046	48	188	188	25	192	242	270	633	714
Billy Koo				0	6685	36	185	185	28	181	257	288	654	747
19 - Team 19 Lane 13 HDCP=27 Avg=507														
Trung To	219	218	235	672	12553	62	202	202	14	198	299	318	688	745
Trang To	123	101	137	361	8038	66	121	121	79	123	160	242	423	669
Sam Truong	217	180	204	601	12192	66	184	184	28	190	257	289	674	770
20 - Team 20 Lane 15 HDCP=74 Avg=538														
Jimmy Yeung	a161	a161	a161	483	6797	42	161	161	47	168	216	261	533	663 \$196.00
Jason Wong	a202	a202	a202	606	7289	36	202	202	14	195	268	285	730	790
Kevin Yeung	151	213	193	557	11037	63	175	175	36	181	244	280	656	764
21 - Team 21 Lane 11 HDCP=0 Avg=605														
Wayne Feng	158	203	211	572	7142	36	198	198	17	198	257	277	642	702
Dick Zhu	170	201	190	561	5221	27	193	193	21	200	238	254	619	684
Stanley Zhu	258	177	206	641	14178	66	214	214	4	212	266	273	741	762
Scott Zhao				0	10391	54	192	192	22	199	242	264	635	707
22 - Shots-R-Us Lane 10 HDCP=20 Avg=540														
Juan Almanza	183	192	197	572	12369	62	199	199	16	186	268	286	691	772
Mark Hosoda	a180	a180	a180	540	6441	36	178	180	32	190	222	254	601	681 \$56.00
Albert Wan	148	178	185	511	10684	66	161	161	47	164	225	269	534	681
Jonathan Ng				0	6917	33	209	209	8	213	257	268	722	758
Anthony Le				0	670	3	223	bk210	8	210	247	255	670	694
23 - Torture Bowling Lane 8 HDCP=44 Avg=563														
Alejandro Ferreira	164	187	138	489	10894	63	172	172	38	171	248	287	606	720 \$28.00
Hector Ferreira	167	180	267	614	12113	63	192	192	22	188	268	292	715	787
Hugo Ferreira	178	193	228	599	13188	66	199	199	16	200	257	272	693	741
24 - Team 24 Lane 6 HDCP=0 Avg=593														
Jeremiah Sullivan	217	225	217	659	13888	62	224	224	0	213	290	295	776	791
Brian Young	171	201	213	585	11606	66	175	175	36	158	225	266	606	720
Harry Yee	257	173	248	678	12275	63	194	194	20	193	257	278	678	744
George Yuen				0	0	0		bk140	64	140	0		0	
25 - Team 25 Lane 31 HDCP=0 Avg=574														
Art Chu	141	201	153	495	9578	57	168	168	41	168	225	268	569	698
Jimmy Chang	190	193	203	586	13412	66	203	203	13	199	279	290	675	721
Sean Kang	a203	a203	a203	609	2968	15	197	203	13	213	231	236	677	692 \$56.00
Erik Joseph				0	5072	27	187	203	13	213	244	257	632	671 \$28.00

Tuesday 8:35 pm

Lanes 5 - 46

Name	-1-	-2-	-3-	Total	Pins	Gms	Real Average	Avg HDCP	Book Avg	High Game	HDCP Game	High Sers	HDCP Sers	Total Arrears
26 - King's Laundry Lane 33 HDCP=52 Avg=488														
Donny Lau	187	158	212	557	10364	60	172	172	38	178	233	271	591	705
Gilbert Lee	155	181	129	465	8838	63	140	140	64	147	196	262	501	699
Dee Lau	154	128	127	409	9015	51	176	176	35	183	246	280	631	733
27 - Mod Squad Lane 29 HDCP=112 Avg=493														
John Mendez	156	170	138	464	8989	57	157	157	50	157	217	268	598	760
Mike Livingston	a173	a173	a173	519	9379	54	173	173	37	164	257	301	605	737 \$28.00
Ken Yao	170	185	193	548	10802	66	163	163	45	172	218	264	562	700
28 - V.E.D. Lane 37 HDCP=95 Avg=474														
Victor Tan	a174	a174	a174	522	7833	45	174	174	36	169	243	283	669	789 \$56.00
Ed Soss	112	150	138	400	7132	57	125	125	76	125	177	254	436	667
Daniel Yu	165	181	190	536	10519	60	175	175	36	178	257	290	630	741
29 - Team 29 Lane 39 HDCP=0 Avg=551														
Russell Yeager (LH)	267	202	139	608	8154	45	181	181	31	___	267	299	626	725
Mitchell Hong	167	172	165	504	9173	54	169	169	40	171	223	268	641	776
Octavio Salazar Sr	145	243	184	572	12071	60	201	201	15	202	300	316	692	734
Robert Dong				0	1880	9	208	208	9	190	270	294	721	793
30 - Goku Lane 35 HDCP=62 Avg=537														
Phuong Pham	a203	a203	a203	609	12224	60	203	203	13	199	266	290	694	727 \$28.00
Thoi Ta	a138	a138	a138	414	8705	63	138	138	65	133	197	264	481	687 \$28.00
David Streltsoff	164	250	169	583	10631	54	196	196	19	199	258	278	703	763
31 - Team 31 Lane 44 HDCP=22 Avg=552														
Wilson Leung	161	190	185	536	12813	63	203	203	13	183	278	301	753	822
Darren Hue	166	189	180	535	8046	48	167	167	42	156	228	279	616	748
Nick Hoey	a182	a182	a182	546	10951	60	182	182	30	187	248	280	656	749
32 - Tu Bros Lane 46 HDCP=99 Avg=456														
Nelson Tu	168	135	148	451	9996	66	151	151	55	142	232	283	579	732
Richard Hernandez	124	137	113	374	1829	15	121	121	79	___	157	216	414	611
John Tu	195	205	193	593	11091	60	184	184	28	183	265	296	676	769
Vincent Tu				0	10831	57	190	190	24	194	245	269	676	736
33 - Team 33 Lane 25 HDCP=0 Avg=595														
Chris Toy	173	201	257	631	11915	57	209	209	8	209	278	294	717	750
Robert Mak	227	203	212	642	4643	24	193	193	21	___	234	262	642	714
Ming Chen	197	205	162	564	2899	15	193	193	21	195	224	244	652	712
Frank Toy				0	12121	57	212	212	6	206	273	281	714	743
Thomas Toy				0	9195	45	204	204	12	190	267	283	712	760
34 - Magahay Lane 23 HDCP=0 Avg=615														
Alex Ma	a218	a218	a218	654	13764	63	218	218	1	213	279	282	757	766 \$28.00
Chris Yang	a197	a197	a197	591	5912	30	197	197	18	197	278	296	696	750 \$196.00
Ken Ng	216	255	135	606	13247	66	200	200	16	196	286	313	732	813
35 - Team 35 Lane 42 HDCP=0 Avg=620														
Sean Vo	163	194	198	555	11910	60	198	198	17	196	277	293	723	780
Nathan Lam	a195	a195	a195	585	11739	60	195	195	20	189	256	279	693	753 \$28.00
Nicholas Lam	257	193	225	675	14311	63	227	227	0	228	300	300	817	817

Chinese Bowling Club

Classic Bowling Center

Tuesday 8:35 pm

Lanes 5 - 46

Name	-1-	-2-	-3-	Total	Pins	Gms	Real Average	Avg HDCP	Book Avg	High Game	HDCP Game	High Sers	HDCP Sers	Total Arrears	
36 - High Roller Bowlers Lane 27 HDCP=9 Avg=499															
Thomas Sin	a174	a174	a174	522	7315	42	174	174	36	172	224	260	574	685	\$28.00
Albert V-Ribeiro	148	89	132	369	5607	48	116	128	73	138	170	237	467	686	
Patrick McClelland	170	165	182	517	5319	27	197	197	18	184	266	287	729	792	\$28.00
Max Voronkov				0	5925	36	164	164	44	163	224	270	544	688	
37 - Team 37 Lane 26 HDCP=76 Avg=500															
Alex Araya	226	185	194	605	9928	63	157	157	50	143	228	288	605	761	
Alon Evans	147	141	143	431	9176	60	152	152	54	149	212	267	547	710	\$56.00
Trayon Campbell	148	217	222	587	11507	60	191	191	23	194	266	291	675	747	
38 - Tripod Lane 28 HDCP=0 Avg=511															
Van Tran	150	153	189	492	10868	66	164	164	44	158	218	268	558	699	
Roland Lee	125	204	118	447	4405	27	163	163	45	162	215	262	565	706	
Tim Choy	167	199	166	532	9432	51	184	184	28	171	246	281	641	746	
Terence Pon				0	7303	51	143	143	61	143	206	270	484	679	
39 - Mot Hai Ba Yo Lane 24 HDCP=104 Avg=484															
Steven Nguyen				0	8296	51	162	162	46	156	258	302	578	713	
Joe Chan				0	10117	63	160	160	48	155	223	278	540	705	
Tom Fong				0	10223	63	162	162	46	171	257	304	642	783	
Delyn Chouk				0	0	0		bk200	16	200	0		0		
40 - Team 40 Lane 19 HDCP=42 Avg=465															
Tony Chiu	138	136	115	389	10052	66	152	152	54	149	216	270	541	703	
Robert Lui	203	190	150	543	10017	60	166	166	43	149	243	287	624	756	
Dino Adani	140	119	160	419	8878	60	147	147	58	131	194	250	504	674	
41 - The miSFit's Lane 21 HDCP=179 Avg=335															
Kenneth Burgess	144	95	116	355	6304	57	110	110	88	___	156	247	418	685	
Alysa Hammons	a94	a94	a94	282	1130	12	94	94	100	___	134	230	307	616	
Kenneth Hammons Jr	202	136	224	562	7908	60	131	131	71	117	224	297	562	781	
42 - DLOading Lane 17 HDCP=24 Avg=528															
Derek Ma	195	196	256	647	9751	57	171	171	39	___	256	299	647	770	
Derek Joe	147	181	232	560	9649	57	169	169	40	___	236	282	584	722	
Andrew Lo	202	190	166	558	12414	66	188	188	25	___	267	295	665	749	

Lane Assignments

	<u>5-6</u>	<u>7-8</u>	<u>9-10</u>	<u>11-12</u>	<u>13-14</u>	<u>15-16</u>	<u>17-18</u>	<u>19-20</u>	<u>21-22</u>	<u>23-24</u>	<u>25-26</u>
Wk23 02/24	16- 24	15- 23	18- 22	21- 12	19- 11	20- 10	42- 6	40- 4	41- 5	34- 39	33- 37
Wk24 03/03	39- 27	37- 25	38- 26	3- 17	1- 13	2- 14	21- 9	20- 8	19- 7	6- 24	5- 23
Wk25 03/10	2- 5	4- 6	1- 3	8- 11	10- 12	7- 9	14- 15	13- 17	18- 16	20- 23	22- 24
	<u>27-28</u>	<u>29-30</u>	<u>31-32</u>	<u>33-34</u>	<u>35-36</u>	<u>37-38</u>	<u>39-40</u>	<u>41-42</u>	<u>43-44</u>	<u>45-46</u>	
Wk23 02/24	36- 38	27- 3	25- 1	26- 2	30- 9	28- 8	29- 7	17- 35	13- 31	14- 32	
Wk24 03/03	4- 22	16- 42	15- 41	18- 40	35- 34	32- 36	31- 33	30- 12	29- 11	28- 10	
Wk25 03/10	19- 21	26- 29	28- 30	25- 27	32- 33	31- 35	36- 34	38- 41	40- 42	37- 39	